SYATvAA ANV JOLNGIYLSIA TVOO01 SN0 1V I19VIIVAY 39 T1IM S13Vd INIWIDVIdIY FJHL

dn dOH IAISSIOX3 °

dN dOH HONON3 1ON o

‘dn pua s)9]j9d InoA alaym JaA0 [013u09 J3jealb aaey noA os ‘dn-doy
ay) Bunsnlpe Aq paseasoul Ajjeasb aq ueds unb jjosiie ue jo Aodeinsae ayj

LANINLSNrav dn doH

o

SAFETY

+ DO NOT MODIFY OR ALTER YOUR AIRSOFT GUN. Attempts to modify
airsoft gun unsafe to use, cause serious injury or death and will void the wa
Always check to see if the airsoft gun is “ON SAFE” and unloaded whé
storage.

Always keep the airsoft gun “ON SAFE” until you are ready to shoot in a SAFE DIRECTION.

Misuse or careless use may cause serious injury.

Do not look into the gun muzzle.

Do not ever point the airsoft gun at anything you do not intend to shoot.

You and other with you should always wear shooting glasses to protect your eyes.

If your reading or prescription glasses are not safety glasses, make sure you wear shooting glasses over your
regular glasses.

Do not put the airsoft gun away loaded. Make sure ALL of the plastic BBs are unloaded from the airsoft gun.

Do not shoot at hard surfaces or at the surface of water. The plastic BBs may bounce off or ricochet and hit
someone or something you had not intendedto hit. If the plastic BBs should happen to hit a hard surface, do not
reuse those plastic BBs because they could cause possible damage to your airsoft gun.

Use 6 mm plastic BBs only.

Always put the airsoft gun in a case or bag when you carrying it.

Always store this airsoft gun in a secure location and at the places out of reach by children.
Alway treat the airsoft gun as though it is loaded and with the same respect you would a firearm.
Using unauthorized repair centers or modifying the function of your airsoft gun in any way

may be unsafe and will void your warranty.

We are not responsible for any malfunction, accidents, injuries or repair cost resulting from
misuse, or by disassembly and modification of the airsoft gun.

WARNING

USER RESTRICTED TO 18 YEARS OF AGE OLDER

MONHONNN (VE/Z) ININ HYINOOS L A9'6
'NND dNOA ¥O4 AY311vd a31did3dS FHL 3SN

Ad3LIVE 13ISN|
N B aN

i ANS6(

AR-006E AS360C BLACK (ECU VERSION)
/ AR-O56E AS36C TAN (ECU VERSION)

ELECTRONIC
FIRING CONTROL
SYSTEM

Automatic Electric Airsoft Gun Instruction Manual ¢ Always read through this manual before operation




1

EW-M2.5 5/

ST-49
UB-22

ST-51

‘ ST-230

P-1X10X5.5X32

%

SP-0.8X4.2X2.7X30

8

UB-24
UB-25
HG-53

gsp-mmxa.sxﬂ

‘««‘«.HS-SS

SP-0.3X4.2X2X12

I—}S—43
\a\)
RC-M5X25

$-4X26.5

RC-M5X25

HS%43

‘RCWS-M? BXS

5-4x16.5 il 7
~ =
P
HS-43
RC-M5X25

HG-44

BOLT LOCK & RELEASE

1. Pull cocking lever to position.
2, Push to lock bolt.

_0 o) ) )
° ap o
nNe——3 oo
©)
@
1. Pull cocking lever to the end.
2. Release back to position.
S Y PP L\
| [© G — ] © —
N C— oo
(4

Magazine release lever

SP-0. SX% 4X1X14
|

v

GB-108‘ R-2X9

o)
o

FC-M3Xs
v
FC-M4X16

FC-M3X8
HG-53

/SP-O 3X1.7X1X6

FH-M3X6
b4 Q:LMS)(S
<.

LB-390

LB-385

LB-389

SP-0.3X1.7X1X6
LB-1 2/\
s-axAV

LB-387

SP-0.8X4.4X3X12

P

‘
F22
MG-77
L S% MG-78
@ sp-04x26x1.5x15

S

-~
MG-2
»

RCS-M
Cs-M2.3x8 8,

I

AN 7Y

MG-68
A Fcmaxs

4

ITW-M2.5

RCS-M2.3X8
-~

GB-85

-37

1X10X5X24

1B-CU6.03X250

JM-M4X8

FH-M5X14

Y N\

TR
;“/é"' //,/‘\i:)» RS A N

Folding Stock ~ Bolt Cover

Full Auto / Semi / Safe

* Realistic Gas Block and Piston
* Strong Recoil Effect
- Easily Deactivate with a Single Screw
* Easy Power Upgrade
* Realistic Disassemble Process
* Realistic Folding Stock
* Realistic Flash Hider
* Easy Battery Replacement
* Realistic Barrel Lock
* One-piece Aluminium Outer Barrel
* Functional Bolt Lock / Release
* One-piece High Strength Nylon Fiber Body

Functional Bolt Lock / Release

ol
B-36

P

WeT1.5X15X0.8

.,u\‘\‘\g

FH-M5X14

|
aCH-MSXM

RC-M2X4
LS

ROM2X4 i

RCM2X$ & o o Mo

Re-M2xa
<

Rear Sight Picatinny-rail

N

Magazine Release Catch

W
Y
S
8

Cocking Lever

SP-1.4X11X7.5X170

W 1x6x03 @
GB-45

W

DATA OF AR-OO6E / AR-O56E ELECTRIC

Foresight
|

Muzzle

Strong Recoil Effect

BATTERY:

MAGAZINE CAPACITY:
MODE:

MATERIAL:

MOTOR:

HOP-UP:

LENGTH:

WEIGHT:

8.4V 1500mAH (2/3A) Nunchuck
45rds (6mm BB)

Full Auto / Semi / Safe

Nylon Fiber + Zinc Alloy

High Torque Flat Motor
Adjustable

505/ 735mm

26009

Automatic Electric Airsoft Gun Instruction Manual ¢ Always read through this manual before operation




